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Mid-Module 3 Review Sheet

| ) Draw an area model to solve the fo||owing. Find the value of the Fo||owing

expressions.

a) 40 x 80 b)Y x2/3

2) Use any place value strategy to multiply.

a) b x 16 b) 3 x 429

c) 6 x 1,604 d) 3,634 x 6




Solve using a model or equation. Show your work and write your answer as a

statement.

3) Northern Elementary School has a field with an area of 35 square meters. The
length of the field is / meters. The field at Southern Elementary School is four

fimes as |on9 and two fimes as wide.

a) What is the width of Northern Elementary School’s field? Then, draw and

label the measurements of the field at Southern Elementary School.

Northern Elementary School Field

35

squcre

meters

/ meters

b) What is the area of the field at Southern Elementary School ?




c¢) The two schools want to put up a fence around their fields. How many more

meters of fencing will Southern Elementary need than Northern Elementary?

d) Northern Elementary School has a sandbox that measures 3 yards by |2
yards on their field. The dimensions of Southern Elementary School’s

sandbox are twice as large. VWhat is the area of Southern Elementary

School’s sandbox? Write a mu|ﬂp|icoﬁon equation fo solve. Assess the

reasonableness of your answer.




4) Mrs. Ellis orders new pens and penci|s for her classes. She orders 8 boxes
of pens with 63 pens in each box. She orders / boxes of penci|s with
| 12 pencils in each box. How many new pens and pencils will Mrs. Ellis

order? Is your answer reasonable?  Explain.

©) The Bakery baked oatmeal cookies on a pan that holds 8 rows of |3 cookies.

They then baked four times the amount of chocolate chip cookies

as oatmeal cookies. How many oatmeal and chocolate chip

cookies will the bakery have?




Mid-Module 3 Review Sheet ANSWER KEY

| ) Draw an area model to solve the fo||owin9. Find the value of the fo”owing

expressions.

a) 40 x 80;3,200 b) 4 x273=1,090
0

SN ATN 100 0
10X 80 %00 | 280
ztHens x §tens
= 32 hundreds X 27?&
40 x§0=3,200 COEIR)

(4x70)2280
2) Use any place value strategy to multiply. (4X 200)93 00 ___
[,oqL

a) b x 46 b) 3 x 429

c)6 x 1,609

(109

54
+ 00
30O
wo0O
154
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Solve using a model or equation. Show your work and write your answer as a

statement.

3) Northern Elementary School has a field with an area of 35 square meters. The
length of the field is / meters. The field at Southern Elementary School is four

fimes as |on9 and two times as wide.

a) What is the width of Northern Elementary School’s field? Then, draw and

label the measurements of the field at Southern Elementary School.

Northern Elementary School Field 50 IA'H'le,I"I’\

35

square
meters

/ meters

A=LXW
35: 7 XW
35=71x5

W=5m

b) What is the area of the field at Southern Elementary School ?

A= x\/
A 2% x|0
]A\ = 2%0 me’iers1
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c¢) The two schools want to put up a fence around their fields. How many more

meters of fencing will Southern Elementary need than Northern Elementary?

Northem Southern 9L
Tm

5m |0m

Im

P= Sts+6+S 2%m
P-T47+5+5 Gl P=s+s+s+s
F: 14410 Southern will need P:Z@-l 28 +10+10

pP= 24m 52 more meters than ) P= Db+ 20
Northern. P= _MJm

d) Northern Elementary School has a sandbox that measures 3 yards by |2

yards on their field. The dimensions of Southern Elementary School’s
sandbox are twice as large. VWhat is the area of Southern Elementary
School’s sandbox?  Write a multiplication equation to solve. Assess the

reasonableness of your answer.

Southern
Nathern Reason ableness:

24l ® 25%b
% 150yd*

The area of Southern
Elementary Schools sandbox
is 144 yd. It is reasonable
because 144 is very close to
the estimate of 150 yd.
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Southern will need 52 more meters than Northern.

The area of Southern Elementary Schools sandbox is 144 yd. It is reasonable because 144 is very close to the estimate of 150 yd.


4) Mrs. Ellis orders new pens and penci|s for her classes. She orders 8 boxes
of pens with 63 pens in each box. She orders / boxes of penci|s with
| 12 pencils in each box. How many new pens and pencils will Mrs. Ellis

order? Is your answer reasonable?  Explain.

Lo x =480
[ (0x7=T70_

1,250

©) The Bakery baked oatmeal cookies on a pan that holds 8 rows o
They then baked four times the amount of chocolate chip cookies
as oatmeal cookies. How many oatmeal and chocolate chip

cookies will the bakery have?
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The answer is reasonable because 1,288 is close to the estimate of 1,250 pens and pencils.


